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Model Answer
--------------------------------------- (I-Reading Comprehension) ---------==-==-==-m-mmmmmmmmmeemmoeee

A) Answer:

1- Because watching a story is totally passive pass time. i.e. “someone else has made the
decisions about everything in the story.

2- By practising and reading daily.

3- Yes, | agree, because the children in watching TV find everything happen without taking part
in, They are completely passive so I think that watching TV isn’t an effective mean of
entertainment.

B) Answer:

4- ¢) read much

5- a) not an effective

A) Answer:
1- b) had left

2- ¢) has lived

3-a) come

4- ¢) biggest

5-a)in

B) Answer:

6- How high is the pyramid?

7- he would be happy.

8- (took) - (had asked)

9- Some of the cakes had been eaten.

10- | asked the boys if they had busy that today.
-------------------------------------------- (I1-Translation) ------=====mmmmmm e

A) Answer: ;
Jdale gl (asSiy slead) o J8AT 8 LAk 3G ga s Lla 1) 0 ddlaall el
B) Answer:

Egypt has a great human energies that enable it to make a bright future to its sons.
------------------------------------------------- (VI-Composition) ----========mmmmmmmmmm oo
Answer:

Any good paragraph in one only of the tow is right and acceptable.

With best wishes



